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I. (A) Choose the correct answer: lx5=5
eh Vw ltF Bfrs<tc

(t) Which of the following is not correct with
regard to GST ?

' '$qfs cc-do<<q-{-6sEq"< fslT[dtfr' eEi

4{it?

(a) It is a value added tax

Eqq'rcwtfuw

Contd..



(b) It is.a destination based tax

tqsl &fuq
(c) It is collected at multiple stages

?lr66qsKsqisq<tql

(d) Onll' Central Government is
authorised to collect this tax

q?c {(dF $F rwq co-fr{ D-{sR orq
qqq:61 |q6q

@ Which of the following wili not be
charged to GST ?

r:-q< c$l{R{ Tl\ft< s"r<s fil qFF m{c {d
61ag?

(a) Jewellery

rfsl

(b) Electronic goods

@filoqrft
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(c) Alcoholic liquor for human
consumption

fl$qc{l<I{qsE-<I

(d) LIC Policy

ft<rAltqfrF

(iiil Which of the following is correct with
regard to IGST ?

qiw {qi qs fi-<l w< q'qve \58< Calqdt E&
Isi?

(a) It is levied by the State
Governments

t*r {qr E-{d<q{ceqfc<t'f sr<

(b) It is sum total of CGST and SGST/
UGST

R ccsr qR scsr/ ucsr < c{Flsdr

(c) It is levied on intra state supply

Erto <tqrqss fus<s cqtttFrc s"RE
qt6<t'tF{Iq{

(d) All of the above

g'F{:I)FFFII
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/iul Which of the followingActs specifies the
rates of custom duties ?

EE< csFfi qRq ft{ es< T< fidnq sc{ z

(a) The Custom Act, L962

fiqtee qR{, tsoz

(b) The Custom Tariff Act' 1975

ffltsq$EaqF, tszs

(c) The Central Excise Act, 1944

6sffr q{sta esqk, 1944

(d) None of the above

€4iF{.{irs r$
(u) Assam VAT Act, 2OO3 came into force

on:

qfr {4 iitsl&s ?F{ qRi, 2oo3 csl4 stRR

'Rtffi<q<qq{ 3

(a) JuIy L,2Ol7

t dR' zotz
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(b) September 16,2016

16 cD-cgs<,2016

(c) May 1, 2005

I C{,2005

(d) April 1, 2O0s

I ,41b4,2003

Fill in the blanks: lx5=5

"fifi tR t{ <srs

(, The final burden of every indirect
tax falls upon the

I-{(dII 'ic<lsI q< E-sls C{MI 

-<
sq<tr ?i131 I

(il) One can say GST, a revised edition
of _.

'fql q|+ cq{l s?Ft c(r{tfiE
c(q!-{6tiR? 'KI{l{ |
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(iil was the first country which
introduced VAT.

{4j {iI{Gs c ffi Fil EqI Cq-lq;l

?qcq-l

(iu) lndia adopts GST model.

vl3E-{€ 4qj qls c*It cF{ 

-qtfr
S{i4Rrql

(u) Good s become liable to
when there is import into or export
from India.

vmwfq qEqIF q* vKqtr "m <glfi{
cF-qE 

-{Rrfiq 
Ff6I q"fR{d ?{

rlc{ 
|

q
2. Answer the following questions: 2x5=10

vd:l e{r{l-$1 E-v< fiat :

(a) What is veLlid contract of sale under Sale
ofGoodsAct, 1930?

"$ R-sr qb, rsso < !!frds t<q ffi Ffu
ftl
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(b) Wnte ang two features of integrated GST.

cRqs {qj q1-+ c{'<t G< ftatr/ ra?<fiB 6rn r

(c) What do you mean by excisable goods ?

qtaotfuaniffifilfueft1qt?

(d) Define the term lferritorial Waters of
India'.

vf<6fa gas< s-dstfl< 4q 1nfl |

(e) .Write two objectives of GST
implementation in India.

gi-{q{e- qqi q<. cq<tF aRGd< ntt Eznt<.frt
. FIII

3. Answer ang four questions : 5x4=20

futrlrturFFtss<Ew.fi$ z

(a) Prepare a list of taxes subsumed under
GST.

4ql ql+ crr<I Gs Rfta q{l crT€ qs qfr-sl
C&NGIII

4 {Sem-6/CBCS} HC 2llTL)/c 7 Contd.



@ How is GST a destination based tax ?
Explain with illustration.

Cstr{Iitr{ "ni ql+ C{<11 st ,{FF ErFl fufu <t
Bcl-5"m{<it"mFlt

(c) Wite ang f.ue limitations of excise duty.

qr+stfl sw ftrflFl "trAfinnast <f{ €l I

(d) Name the goods which remain out of
purview of VAT.

{4j c((TGs FR qRR< <rRs qr+t c.|cfiq{€
anvm.{€tr

(e) Write about the constitutional provisions
for formation of GST Council.

{ql ql-+ cc<fi $.( {R{q {5rr< ffi-aE e|or

ct(R{tR-s <r{ElcIS seRe qs 6rcf fiqf r

A Explain in brief the different types of
- custom duties.

RGa er+mffq ss:{ qsET<l|rllqrKcuf{l 
I
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4. Answer ang four of ttre following questions :

l0x4=40

E-ds fi$ ${tix< frrcti atr?Er+Ew fi$ e

(a) Describe in brief the history of GST inIndia.

effi lqj q+ ci<r ++{ i&qq D1t$ <.f{l
GilI

(b) Discuss the shortcomings of old regime
of indirect taxes.

{<R qr-<tqi <<r+q< u1r{<Rcgq6flDit Ft I

(c) Describe in brief the reasons for
introduction of GST in India.

elTs-{ft qqr q|+ cfit c{ a<6-{ oRfiT{
c(rsc{qtFTtF;rt Fil |

(d) Distinguish between GST and VAT.

{cti qr+ cfirl Fr qFr w c(cstfu w{ Tl-q-s

"tt?iT|qc<f{filI
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. (e) Enumerate the need of enacting the state
and union territory legislations for GST.

<lq]qFI. cr-fir{fisqepffiTq al<t {ql ql+
CT<I C qF d6R4-{ qKIIFF\9=FI €"FIE q$ R'qS
6lnlqnTCDKl

Write the meaning of excise duty.
Evaluate l.he position of excise duty in
new tax regime of indirect taxes.

2+8= 10

q|{$R ss< qaf frllt I aV4 "|r<ls] R <r{Ets
q<-fift sqi c<Fcaq{ S*'i+Rcq{E'X{qwt r

Define the following terms under the
Customs Act. 1962 : 2x5= 10

fiqt ee qRl, 1 962 < qfrd\o sqs fur -mrsF<

{iE.t fi$ s

(, Baggage

ErF-dtc{rqr

(it) Coastal Goods

E"r{-fiF E<I

a

@)
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(iit) Exporter

<efffif

/iul Imported Goods

qtnnfr'fsqlnft

(u) Importer

qtqnfr"$-\5t

(h) Who are persons liabie for obtaining
registration under GST ? Explain the
procedure of obtaining registration

- under GST. 4+6=19

ronRq]s <i&ra E-s qs cr{t s-{{ qfrdE
4qfT-{< <lr< ntftl gqj qF{. 6T<t cl-< qft{E
{fiTd{sfufl <iFtirFill
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